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QUESTION 1

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code. If width > length then Biggest_dimension = wifth Else Biggest_dimenstion = length End_if The Following has been
added to the bottom of the code fragment above. Print "biggest dimension is " and biggest_dimension Print "width:" and
width Print "Length:" and length How many more test cases are required?

A. One more test case will be required for 100 % decision coverage.

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage.

C. None, existing test cases can be used.
D. One more test case will be required for 100% statement coverage.

Correct Answer: C

QUESTION 2
Exhibit:

i. [Easy to access information about tests and testing.
ii. Reduced maintenance of testware.

iii. Easv and Cheap to implement.

iv. Greater Consistency of tests.

Which of the benefits displayed in the exhibit are MOST likely to be achieved by using test tools?
A.iiand iv
B. ii and iii
C.iandiv
D. i and iii

Correct Answer: C

QUESTION 3

Which of the following BEST describes the difference between an inspection and a walkthrough?
A. Both inspections and walkthroughs are led by the author.

B. An inspection is led by a moderator and a walkthrough is led by the author.

C. Both inspections and walkthroughs are led by a trained moderator.
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D. A walkthrough is led by the author. The author is not present during inspections.

Correct Answer: B

QUESTION 4
Exhibit:

i. Functional testing of the component in isolation

ii. structure-based testing of the code without recording incidents.
iii. Autcmated tests that are run until the component passes.

iv. Functional testing of the interfaces between modules.

Which of the combinations displayed in the exhibit correctly describes a valid approach to component testing:

A.iandii.
B. i, ii and iii
C. iii.

D.ii and iv

Correct Answer: B

QUESTION 5

Where may functional testing be performed?

A. At system and acceptance testing levels only.
B. At all test levels.

C. At all levels above integration testing.

D. At the acceptance testing level only.

Correct Answer: B
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